VMware
Exam 1V0-603

Cloud Management and Automation Fundamentals Exam

Verson: Demo

[ Total Questions: 10]



VMware 1V0-603 : Practice Test

Question No : 1

A company is evaluating the deployment of a new private cloud and the manager has
concernsabout the department's ability to effectively manage this new solution.Which
statement represents a valid Management concern?

A. Your solution must provide mobile tenants maximum connectivity and flexibility without
requiring themto host their own VPN services.

B. Your solution should ensure that virtual machines are stored on the "right" storage for
the job.

C. Your solution must be able handle seasonal/burst utilization without paying for unused
capacity duringnon-peak months.

D. Your solution needs the ability to roll back broken or unauthorized configuration changes
to a previous knowngoodstate.

Answer: D

Question No : 2

An administratoris deployinga newvAppwhichneedsspecificstoragecapabilities.In
thepastdatastoreswereorganizedby servicelevelssuchasTierl
FCTier2SASetc.Thecompany’sstorageinfrastructurehasgrownverylargeandmanuallyidentifyi
ngthevariousstoragetypesandcapabilitieshasbecometediousanderrorprone.

Which technology helps eliminate a lot of the manual work involved in keeping storage
information up to datewithina cloud-basedenvironment?

A. VASA

B. Resource Pools
C. Storage vMotion
D. Catalogs

Answer: C

Question No : 3

A company has decided to move to a hybrid cloud environment.They are concerned that
this may increase management complexity by requiring multipleinterfaces.Which product
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provides a single interface for all virtual machines within a hybrid cloud environment?

A. vCenter Server

B. vFabric Suite

C. vCloud Connector
D. VMware NSX

Answer: C

Question No : 4

Anadministratorwantstomoreproactivelyreactto
alarmsinthedatacenter.WhichvRealizeoperationsavailability
featurewouldbemosthelpfulinidentifyingproblemsbeforetheyimpactendusers?

A. Dynamic Thresholds
B. Dynamic Alerts

C. Smart Alerts

D. Self-Adjusting Alerts

Answer: B

Question No : 5

An administratormanagesa multi-tierapplicationthat
iscomprisedofwebdatabaseandapplicationservers.Which productwouldallowthe
administratorto movethe web serverto a
publiccloudwhilemaintainingthesamenetworksettingsandconnectivitywith the
othertwoservices?

A. vRealize Operations
B. vCloud Connector
C. vFabiic Suite

D. vCentei Server

Answer: B
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Question No : 6

Anadministratorwantstomakesurethatacloudenvironmentisperformingasexpectedandisnotex
hibitinganyseriousproblems.WhichvRealizeoperationssuperMetricwillhelpanalyzeworkloada
nomaliesandfaults?

A. Risk

B. Status

C. Performance
D. Health

Answer: C

Question No : 7

WhichthreeinfrastructureplatformtypescanvRealize Automationdeliverserviceacross?(Choos
ethree.)

A. Virtual

B. Organization
C. Physical

D. Provider

E. Cloud

Answer: A,B,E

Question No : 8

Which VMware product will help ensure the most appropriate operating
system,amountofstorageandnumberofvCPUsareassignedwhencreatinga vApp accordingto
a givenbudget?

A. vRealize Orchestrator
B. vRealize Operations
C. vRealize Business

D. vRealize Automation
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Answer: B

Question No : 9

As partof
settingupacompany’sdisasterrecoveryplanapOrojectmanagerhasidentifiedtheneedtosynchro
nizestorageusedbythevirtualmachinestoaremotedisasterrecoverysite.Whichproductorcompo
nentcanbeusedtoperformthistask?

A. vRealizeAutomation
B. vCloudConnector
C. DatastoreClusters
D. vSphereReplication

Answer: C

Question No : 10

A consultingcompanyhasjustwonacontractto
providecloudinfrastructureservicesforaregionally-
baseddepartmentstore.Thecontractrequirestheautomationof
workflowsforrunningscriptsonvirtualmachinesastheyareprovisionedviathecustomerorganizat
ionportal.

Which two products will help achieve this task? (Choose two.)

A. vCenterSei"ver

B. vFabric Application Director
C. vRealize Orchestrator

D. vRealize Automation

Answer: A,D




